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FUNCTIONS AND LINEAR EQUATIONS

e REVIEW

Functions:

Determine if the following relations are functions.
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Do the following equations represent LINEAR functions? »
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11) a. Tell whether the relationship is a function. grbf

(1,3),(2,5), (3,0), (4, -1), (5, 5)

bt

b. What is the domain? (_|, e e e

c. Whatistherange? ( B\T}D!*} )

12) The table shows the approximate growth of a plant after x days.

b 2
: ]
Days (x) 0 1 5 =
Height (y) 0 15 3.0 e
‘ , 3
+ >
What s the input variable? X What is the output variable? gf £
Find the RATE OF CHANGE (Slope): use proper units. e N
m = ._;%—MLQ—U ih‘fractigpgl :
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13) Identify each slope as positive, negative, zero and undefined.
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(slope) and y-intercept (b) of the following questions?

-
m=. 5 b=__ | C,DL’I\)

5 L. =% (00

What is the rate of change

14) y=—§xj|—7

15) y=5x—38 m =

16) What type of line has a ZERO slope? Sketch graph if necessary!

a. Vertical b. Oblique @ Horizontal  d. Parallel

17) What are the slopes of the following lines:

18) What are the y-intercepts (b) for each line above. Dashed 5 solid 9
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Equation of g Line

(slope-intercept form)
Yy=mX+b

b= vintercept
fii=si Ay
fa%s

Write the equation of a line with the given slope and y-intercept.

P
198 — ;52-, h——3 Equation: \(/j ey X 5
20) m = —1, y — intercept = (0,4) Equation: E/j = 1 X '+“‘—7«L/

' Write the equation of a line given the slope and a point. (use of graph optional

)
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21) m =§; (3,-1)
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Write the equation of a line that passes through 2 points. (use of graph optional)
22) ~(2, 3):«~a‘ndﬂ (-1, -6) 23) él, —1)>and {7, 11)
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Werite the equation of a line that passes through 2 points. (use of graph optional)

22) (2, 3)and (-1, -6)
’%) [PI'Q) =

3 /z
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23) (1, -1hand (7, 11)
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3) The three different linear functions below are represented in three different ways as

shown.
f{x)
wlzle b =
’%_(3),; )*ig HA e ﬁ?ﬁ«% - j?g""’(:'
AL 6 9 - T ,w'm i g}j =
e - 2,
.Y ;’D/| : y ' L =2 X =
L},/ % \‘() 0 W\’/?f ag 3 5
v ' o~ -2
nwh - ""f";;,

Which function has the greatest rate of change (slope)?

o Hilile ke e %u@i&f/%'!qﬁe, ol

Do any of the above functions have the same rate of change? Justify your answer.

{ ’ s o .

Gy SAME rate @ £ CJL.MPZ}C i
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4) What function has the greater rate of change?

Xy N=me+b

1] -6 y =(2k + 4
N (e %45 (f/\’\‘l’b
M=TE])

(1)
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5) Which ordered pair prevent the following set from being a function?

1(1,3), (24), B4, (3,6),(510), (6,3)}
il S

6) If the data is graphed on a coordinate plane, would the graph be linear?
A Yes, because the rule is y = 2x.
B. Yes, because its graph is a straight line.
@ No, because the graph i Is only in Quadrant I.
Q No, because the rate of change is not constant.
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7) Which equation represents a linear function?

3 s =
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8) Which graph represents a function?
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9) The price of a circular pizza is based on the diameter of the pizza and number of
toppings. If P represents the price of the pizza, in dollars, and A represents the area_

of the pizza, in square inches, which function best represents the Iowesé %rice per
square inch for a cheese pizza with no toppings?

¥ PIZZ8 FRICE
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10) Which table represents a non-linear relationship?
Week | Total Deposit '
/ 52 ~
\ ( 2 $50 i ¢
3 ?‘,, /
( g 3 575 b £ ‘. e
1 € et J DK
O 4 $100 \
Vi
Ak s $125 )
A e i S e e o PINSEVATERER o5 k!
Year Population
¥ ( 2001 10,000 —5T
- 2002 9,500 <
- i
1 T 2003 sy |
P . ) —50
' b 2004 8500 i
¥ 1 2005 gas )0
B

Month | Loa‘n Payment
s ( 1 $102.457 )
2 $102.45
’”( 3 $102.45
"{ 4 $102.45
T $102.45
L c i
Hours Population
£ 1 5
A3 15
4 \ 25
4 75
5 25
7




